oLUTIONS TO SXERCISES  WEEK Y|

Exevecse 310

My %) cou,wkwh fwusses vl .cq,feus%
PV‘OQ%S?S )\u I‘l“) z D(h 24—7 \]’11 M &v h.‘:‘ ) 2.

Unelen Mo 0,00 oAt Ay aﬂﬁveﬁe&a/
Cauulmcd proeess U, 18 =N F)+ Ngly)

Wes Mww'ka prouss A l4) = k) VoI)

Wt Y1) = N 1)+ Yo [4) aued el
s H«J COM 411 OV Ua/a,e au](’ . ) Auef

O(z l+7 'L{Vlé&n Hd .

e bow Jow  [35y) Mt
Yo Usl skhoke 204 lus
Patofufaﬁ? Va1 eAA Vvoce%

o 7
32,7 l) = L' o It 4/5'
5 Yl 1) \"z’f) 7

owete o . The vVaviawe eshiaador
(3. 55) -l-o«{ws %d e{ovm




gIA Uﬁ'&“ﬁ KAJ OCCCW Yo 51;11'0“ [M\A“h Ho)
AN, )= RO+ dMe|4) e
C\V‘ uawtin uv'.

te ,7
Vo) = § L (1) + M, 1)

5 D

o
= L2 4) + § K dmyp)

s e Soll b o Mt vk oo
qtle &5 a mean o /vuay/mﬁy((‘
omd Liv»u |

EV. [4) = EL27 (%)

Mk we lwow b
Vv Zfl‘ﬂ = <27 ('/o)

omd  ines V. o) &5 swhsal uwta H,.



We  uow »Fbow\ [3.53) Hay
AGG - Leoh Wk  Z U] 45 o muwad
3020 /\.MMW mucle %u? bewlf

\/uwowd%%.
Newee we e ESZlk)i=0.

(ou%o@uwo Md [w(tuq/({ l{ﬁﬂ, W2
\/wwl? M fc’,{ /q&nmwtu awﬁ

bove BBt
%,“0-) Cs A)l HO) — [éa)

Newce we have wmote Yo W
9§l -ER))=C

TR (.
= %‘E\“U)S =t 2M Hoﬁ



